FILTER FOR AGRICULTURAL MACHINERY

FILTER
SIZE
NO. MODEL NO. DRAWING NO. FILTER KINDS
H(mm) @ (mm) SCREW
SSSL

01 TL2540 621324000309 OIL FILTER 100 280 3/4-16
02 TS3840 568132000166 FUEL FILTER 95 80 M20 X 1.5p
03 TS3840 569132408048 OIL FILTER 97 80 M20 X 1.5p
04 TA4140 152314347908 FUEL FILTER 115 875 M16 X 1.5p
05 TA4140 152316739908 OIL FILTER 120 875 M20 X 1.5p
06 TA4340 689416739902 OIL FILTER 127 %101 M20 X 1.5p
07 TA4340 689414347902 FUEL FILTER 90 % 80 3/4-16
08 TA4340 156451534109 2¢f FILTER 174 295 1% -16
09 TA4340 164351520218 St FILTER(20) 200 ¢ 108 114 -12
10 EX80 $24319060116 FUEL FILTER 71 087
1 EX80 500441567014 OIL FILTER 109 %108 3/4-16
12 EX80 $24419280013 29 FILTER 228 %108 M40 X P2
13 EX80 $24419350010 OIL FILTER(S/T) 179 @108 M40 X P2
14 1056XL 1329020C1 OIL FILTER 169 293 1 712
15 1056XL 3132428R2 FUEL FILTER 131 @86 M16 X 1.5p
16 5140 A77470  (J903640) FUEL FILTER 15 875 M16 X 1.5p

(925274) =3 FILTER 133.5 ?93 13/16-16
17 595XL 3136046R93 OIL FILTER 112 093 1 =13
18 875XL 93413C1 22t FILTER 78 9128
19 5140 J908615 OIL FILTER 170 v 93 17-16
20 5140 1976934C3 2S¢t FILTER 200 2123 114-18
21 TY007 P12353100104 22 FILTER(EY) 82 9 50
22 TY007 P12353100203 Sol FILTER(2|E) | 136 #71.70
23 TY007 11930535150 OIL FILTER 65 % 68 M20 X 1.5P
24 TY007 12455055700 FUEL FILTER 86 035
25 HL3500 151310232905 FUEL FILTER 89 950
26 HL3500 621324000101 OIL FILTER 100 » 80 3/4-16
27 HL5000 621324000501 OIL FILTER 75 0747 3/4-16
28 HL5000 366935425008 OIL FILTER 85 | 093 M20 X 1.5p
29 CASE4230 17521101130 WATER FILTER(50g) 103 »93 11/16-16
30 DORADO 60,70 $2431923000 FUEL FILTER 137 | 28085 M16 X 1.5p
31 CASE4230 17521101120 OIL FILTER 170 | 293 T2
32 HL5050 65,055105008 OIL FILTER 152 | o104 M20 X 1.5p
33 TA3540 14501673990 OIL FILTER 85 | 093 M20 X 1.5p
34 ANTARES100 2.4419.340.0 OIL FILTER 143 | @108 3/4-16
35 TAS5 16991673990 OIL FILTER 141 | @93 13/16-16
36 144410137000 oY HE(S) 245 083
a7 EEH S 205 | 080 M60 X 1.5
38 T280DE 12605102200 F}E2|X| 28 145 2 80 M60 X 1.5
39 T350DE 12305152100 F}ER|X| 35 228 2108 11/4-12
40 15001673990 OIL FILTER , 3/4-16
41 HC3550 330124000103 FIE2|X| 2T E , M20 X 1.5
42 .
43
44
45
46 [
a7 1




. WORLD BEST OIL FILTER

NO. MODEL NO. DRAWING NO. FILTER KINDS =
H(mm) @ (mm) SCREW
HEZYFASA
01 L3503-D T4260-38125 HYD OIL FILTER 173 93 114-16
D4351-4WD1
02 M22 T4850-46741 200 108 114-12
03 TD1700-S4 E6201-32443 85 293 M20 X 1.5
04 m18 T4520-38631 200 2150 115-12
05 M20 T4620-38031 : 200 %108 .
06 TD2200 E6300-32432 . 85 093 3/4-16
07 R1-301 16271-3209-0 " 100 2 80 M20 X 1.5
08 TATD-950 E5205-3209-1 ” 80 2 80 v
09 D48 E7200-32431 G 139 94 3/4-16
10 D55 T19044 " 141 293 13/16-16
1 R1-350 52500-1215-2 . 80 280 M20 X 1.5
R1-450
12 15221-4317-3 FUEL FILTER 80 280
13 15212-3209-1 OIL FILTER 120 280 .
14 84612-4316-0
15 68NN-9N074-AA
16 76KB-1033-1 H27|, AE7|=¢
17 84612-3812-0 29 FILTER
18 DBNN-9601-B T3910 AIR(%}) i
19 DBNN-9R500-A T3910 AIR(2})
20
21
OFM| OFZ & 7| Al F= 4] 3| Al
01 $435 360700071 FUEL FILTER 89 250
S455
02 $435 140516130 OIL FILTER 102 295 3/4-16
03 $435 340500660 HYD OIL FILTER 175 995 1416
$455
04 S455 140516230 OIL FILTER 163 280 3/4-16
05 Wt V491056K (492932) : 57 275 3/4-16
06 3595175M1 HYD OIL FILTER 146 093 M24 X 2.0
07 2175107107 OIL FILTER 57 275 M20 X 1.5
08 1447048M1 . 138 075 M20 X 1.5
09 130366060
10 1447031M1 OIL FILTER
11
12
13
14
15
16
17
18
19
21
21




FILTER FOR AGRICULTURAL MACHINERY

FILTER
SIZE
NO. MODEL NO. DRAWING NO. FILTER KINDS
Hmm) | @(mm) SCREW
HS71H 2 F 48] A
01 | 750HP 37540-02100 BY-PASS ELEMENT | 250 0125
02 | 750HP 37540-01101 OIL FILTER 272 2108
03 32540-11600 " 170 2108
04 35A40-01800 BY-PASS ELEMENT | 170 0125
05 | 750HP 37540-08511 BY-PASS OILELEMENT | 350 093
06 32562-30200 FUEL FILTER 175 003
07 | DD6A, DD8 OILFILTER
08 | DD6A,DD8 BY-PASS, FILTER
09 | DD6A, DD8 FUEL FILTER
10 | DDeB OILFILTER
1 DD4A OILFILTER
12 | DD4A, DD6B FUEL FILTER
13 ME10202 ASS'Y
14
15
SiCH = ZH| L1 F A 5| A}
01 HB7/HB7L/HB8 | 1240619 FUEL FILTER 152 275
02 | HLO5S/HLO65 1151-0011(8023439) FUEL FILTER 81 280 | M20X15
03 | HLO5S/HL600S 3151-1013(5715132) HYD OIL FILTER
04 9151-3001(8023107) OIL FILTER
05
06
07
08
09
10
1
12
13
14
15
ZH S E7|AH F4 8| AL
01 F-TRACTOR TTB 8030000A3 " HYD OIL FILTER 173 093 117216
02 | HA 0912000083 OIL FILTER 120 0 80 M20 X 1.5
03 | AF-TRACTOR TCD2010000A3 HYD OIL FILTER 173 093 11/2-16
04 HH1050000A4 OIL FILTER 101 980 M20 X 1.5
05 CEE4100000A4 HYD OIL FILTER 126 990 M20 X 1.5
06 HC08080000A2 OIL FILTER
07 AL56469 JOHN DEERE HYD FILTER 1/8~164t
08 T19044 JOHN DEERE OIL FILTER 13/16~164
09
10
1
12 ;
13 :
14 |

== N



